log[sensitivity]
log . = —0,35[)~u- ]2
log: =log  +0,00

log [La, ]
Ba Go La

logLo = —0,35[.1)\—U570]Z

log =-0,350)-u ]2

logLa=logLo+0,00

log =log +0,00
u=(A\-550)/50

N

1 1 1
1470 1520 1570

adaptation
L&B: 520

Bg=-055Ba=-0,%

495Ec  565Ec

log[saturation]

log© = —0,35U)~u- ]2
+0,00

log =log
log [La/, [/

1
Go La

l0gLo = 0,350 —Us7g2

log =-0,35U)-u ]2

logLa=logLo+0,00

log =log +0,00
saturation L

Ba
1

1 1
1470 1520 1570

aaaptation
L&B: 520

- ts=0.04
—

495Ec  565Ec

500 600Ad¢/nm 700A¢ 400

log[sensitivity]
log© = —0,35[,~u- - ]2
log:- =log -0,35
log[“La ]

Ba

|OgL0 = —0,35[.])\—1.]570]

log =-0,350-u ]2

logLa=logLo+0,00

log =log +0,00
u,=(A-550)/50

0
570

adaptation

L&B: 520

t-0.04
520:
Lo=-035La=-0%

LSe=000. Gg=-0,F
Bo=-0,55Ba=-0,%

495Ec  565Ec

500

log[saturation]

log " = —0,35U)~u- ]2
-0,35

log~ =log
log [/, Ld

Ba
1

600Ag/nm 700xc 400

logLo = -0,35)—Us7q

log =-0,350)-u ]2

logLa=logLo+0,00

log =log +0,00
saturation L

auaptation
L&B: 520

495Ec  565Ec

600Ad¢/nm 700A¢ 400

600Ad/nm 700Ac 400




